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The' regression equatlon is

y =
Predictor  Coef, ~ Stdev t~Fatio p
Constant * - -0.3697 0.2861 _.° . 0.228 .
x1 < . 4.8271 +0.9810,./ . 0.000 ~ -
x2 0.02323 0.06709 0] 0.737
%3 -0.09471 0.03523 - 0.025 C
#4 -0.02413" ° "0.06551 0.721 )
5. = 0.02818 R-sq = ()
Analysi§ of Varlance s
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Macroeconomics. Complete all multiple choice.

(In section 1, each

question worths 5 points)

A Tarmer sells raw milk for 50 cents to a dairy, who sells cheese made [rom

fov $1.50 to a grucery wholesaler, who sells il lor $1790 Lo a supermarket,
p sells it to the final consumer for $2.19. These transaclions increase the
b by . . :

$0.50 + $1.00 + 50.40 + $0.29 = $2.19
| $0.50 + $1.00 + $1.90 + $2.18 = $5.59
' $0.50 + $1.00 = $1.50 '

$2.19 - $1.560 = $0.69 .

$2.1% - $0.50 = $1.69 T .

Assume an economy producing just two goods as Lhe following table.

o, 1987 1993
QUANTITY PRICE QUANTITY PRICE

LES : 100 ° $0.05 130 $6.06

CILS ,300 $0.03 . 270 $0.04 ’
t is the implicit GNP deflator in 1993 on a 1987 base vaar°

F1.33 Db, 1.27, c¢. 0,78 d. 1. 04

”Crowdlng out” occurs in the IS-LM model as rising govelnment spending
*HIIPS a in the interest rate in order to the demand Jor=-7
wy at the new equilibrium, thus planned private investment.
[rise, keep constant, lowering :
rise,. raise, lowering
rise, lower,* raising

rall, keep constanl, raising
Eall, raise, lowering
onsider an initial IS-LM equilibrium p01ut which correspouds to a point
elled "A" on the current AD curve. If business confidence improves with no .
nze” in the price Ievelf'the,nesyltiug 18~LM equilibrium corresponds to a
it in the AD diagram :
ihich las movéd Uoknward along the same AD curve. _ )
straight above A on a new AD curve. .o -
straight helow A on a new AD curve.
directly to the right of A.on a new AD ~eurve.
irectly to the left of A on a new AD cu1ve“
in the case of °’ unlesp0n51ve eXpenditures,” the operation of the Pigou

ot

shifts the LM curve downward, raising output.

ghifts Ehe LY curve downward, but fails to affect output.

shifts Lhe IS curve rightward, but since that curve is vertical this has no
tct on oulput. ’

Rhifts the IS curve rightward, raising output.
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éynes‘said that even should monetary impotence not occur, full
-correction could be short-~circuited by )
te price level failing to fall sufficiently due, to" downwardly-rigid wages.
he priceé level lailing to fall sufficiently due to continuously falling
- . o s
e price level falling too much due to downwardly-rigid wages.
he.price level [alling too much -due to continuously falling wages.
macroeconomic model obeys the ”"natural rate hypothesis” by incorporating
e assumption of nominal wage stickiness.
t vertical long-rvun AS curve. )
mperlect ingplmation - . ) -
vertical AD curve. T _
ceording to the tlieory of rational expectations, the ”foollng" of HOLRGLS
Friedman's model _
ﬁs ratioual, siuce sudden unforeseeable changes in aggregate demaud can and‘
weeupr. .
is rational, since worlers are always on their labor supply curve.
is nol ralional, siice worlkers should learn to immediately link uncexpected
e changes
in not rational, since workers are often thrown off of ‘their labor _supply
ve. ) _
A central. concept of New Keynesian macroeconomics is that in setting prices
vages, self-inkerested firms and workers are acling ‘
irrationally, since their self—lnterest is badly damnged by the ensu1ng
iness cvcles ’ -
Hrcatlonally, since this imposes husiness cycles on everycne uot palt of
ir arrangements. : . :
rationally, since they do not bear a fully ollsvttlug LUSL ol business
les. o .
rationally, siunce the total welfa;e loss of business cycles must “fe small
ugh to justify the price and wage Setting.

"0kun’s law” is the close relationship observed between a period’s

-

B

—

unemployment rate and -{YM: natural real output)
actual, (Y/Y®H) )
actual, YO :
natural, (Y/YM) .- N
patural, Y . .

yi

frictional,
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{1) If consumption good is an inferior good,;and the price of, the “ :
good is increased. Suppose the income effect dominates i
substitution effect. Thus the consumption of the good is
(a) decreased (b) increased (c¢) unchanged (e) None of the
above .

(2) If 1nd1fference curves of utility do not obey the assumptlon of
a diminishing marglnal rate of substitution (MRS) between two
goods X and Y,’ then all points of tangency, where MRS pd@% Py
and p, are prices of the two goods, still be p01nts of maximum
utility.

(a) True ({(b) False

(3} If there are N individuals in the market, and prlce elastlclty
of demand of each individual is the same, then the price
elasticity of demand of the market is the same as those of
individuals.

(a) True (b) False

{4) The shutdown price is the prlce below which the firm will
‘choose to-produce no output in the short run. The shutdewn
price. is |,
{a) short ruri marginal cost (SMC) (b) average flxed cost (AFQC)
() short run average fixed cost (SAFQC)
(d) average variable cost (AVC) (e) None of the above

{5) If a f£irm uses a markup pricing strategy, the markup would be
higher for goods that are
. {a) elastically demanded (b) unit elastically demanded v

(c)hlnelastlcally demanded {(d) normal goods '_“:;?
{(e) None of the above }
A person with $10,000 in 1neome who faces a 50-50 chance of $4,000 (‘

in medical bill. The utility function of the person is U{10,000)= h:
log 10,000-=_4, U(8,000) = 3.903, U(6,000) = 3.78, 10°%-7762.5. o]

—_—

[t} What is the dmount of fair insurance cost? ) g
(a) 1,000 (b) 1,500 (c) 2,500 (d) 3,000 (e) None of the above g
(1) What is the. expected utlllty of the person from the medical . ,!
» bills? Co !

(a) 3.89 (b) 4.89 (c).2.89 (d) 1.89 (e) None t
§} Rhat is the maximum insurance premlum the person is willing to |

pay for? . .

(a) 4,237.5 (b) 3,237.5 (e¢) 2,237.5 (d) 1,237.5 (e) None F

|
} Basing price expectatlon on complete information about Che {
equlllbrlum price determined by the 1ntersectlon of supply and ol
!

demand in the market is called )

(a) asymetric information expectation

(b) anticipated expectatlon (c) random walk expectation

(d) xational expectation (e) None of the above
0) If two markets are separate, the market that has a highex
elastic demand curve w1ll be charged.the higher price by a
monopolist.
{a) True (b) False
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In a perfectly competitive'price'system, the demand curve is B,Q,
~and the supply curve is P,A in diagram A, P

O
I
fL

T

k!
4
A

(11) Which point is an economic Pareto efficiency? - |
(a) A (b) Q, (¢) Q" (d) E (e) None of the above )
(12) Missing markets occur when transactlon costs exceed i
(a) EAQ, (b) p,EQO (c) Epp, (d) EQ'Q, (e) None '
(13) If consumption price is zero, then what is, the welfare loss N
(a) EAQ, (b) Ep,p, {c) pEQ'0 (d) EQ'Q, {e) None of the above | !

Suppose there are two firms selling apple in a c¢ity. The prices '
charged by the firms are given by p, and p,. Because the firms sell i
different quality of apples, their goods are only partlal

substitutes for one another. The demand fa01ng firm 1 15 given by 1
Q= 10 - p, + (1/2)*p2 and that facing firm 2 is 1
dq,=" 10 - p, + (1/2)*pI Both firms have a constant marginal cost of Il
$2 per apple.

(14} Suppose each firm sets a price equal to marginal cost. How qen
many apples will each sell? ;

(a) q,=;=7 (b) q,=9, q;=7 (¢) q,;=7, g,=9 :,,‘.!
(d) q,=q;=9 (e) None of the above [
(15) Suppose firm 1 believe firm 2 will have 'a price of $2 per + j
apple. How much should firm 1 charge to maximize profit? ]
) {a) 4.5 (b) 5.5 (c) 6.5 (d}) 7.5 (e) None W'[
(16) What will firm 1's profit if p,=2? . N
(a) 20.5 (b) 19.5 (c) 18.5 (d) 22.5 (e) None i~ !
1

(17) Suppose the two firms merged. What price would‘maximizing !
. their total joint profit? - T
(a),p 8 (b) p=9% (e¢) p=10 (d) p=1l (e) None . ”

- f r i
Three possible p01nts on the labor demand curve thakb a monopoly ‘
union might cthoose in garph B.

(18) At which point the total labor payments (w*L) are maximized.
{(a) 'E; (b} E; (¢) E, {(d) all of the above {e) None g

(19) At 'which p01nt the economic rent that workers receive is 0
maximized. L‘”

(a) E, (b) E, {(c¢) E; (d) all of the above (e} None i

(20) At which point the total amount of labor hired is maximized.
“(a) .E; (b) E;, (c) E, (d} all of the above {(e) None
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o 10¥
samplel 1 8 3, §l=4 4.5,3,4.5, X1=4
sanple2 2,10,X2=6 - . 5.5,6.5, X2=6 .
> T
“RTEE (55%
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LR 2 8 A B AR S TR TR . Lﬁsiaxmﬂﬁﬁiﬁﬁﬁlﬁm
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